Řešení příkladu – sestavení rozvahy


Aktiva							Rozvaha k 1.1.201.            		   	  Pasiva
	DLOUHODOBÝ MAJETEK
Dl. hmotný majetek                   11 120 000
Dl. nehmotný majetek                    100 000
Dl. finanční majetek                        500 000
	VLASTNÍ ZDROJE
     Základní kapitál
     Rezervní fond

	
8 570 000
200 000

	OBĚŽNÝ MAJETEK
    Zásoby                                            1 110 000
    Bankovní účty                               1 500 000
    Peníze v pokladně                              50 000
    Pohledávky                                        340 000
	CIZÍ ZDROJE
      Úvěry
      Dodavatelé
      Zaměstnanci
      Dlužné daně
	
4 100 000
650 000
800 000
400 000

	AKTIVA CELKEM                              14 720 000
	PASIVA CELKEM
	[bookmark: _GoBack]14 720 000

	
	
	

	A
	= P
	



